tlectric hammer CH8216-1 220-250V

CI18216 DATE: 20230620




CT18216

[1  [s001821600101 [Bonr\M4x16 E
2 5001821600202 KpbiwKa cTBONa 1
3 5001821600301 3alWMTHbIN KOAMaYyoK 1
4 5001821600401 CronopHoe KonbLo\24,7X2,6 1
5 5001821600501 LWanba 39.5x27.5x5 1
6 5001821600601 Pe3snHoBoe Konbuo 45x28X10 1
7 5001821600701 MonsyH 1
8 5001821600801 KpbiwkKa 1
9 5001821600901 KonbLo 1
10 5001821601001 bnok 3amka 1
11 5001821601101 MpyxnHa\51X2,5x42 1
12 5001821601201 MpyxnHa\43x34x2X34 1
13 5001821601301 LLlari6a npy*KuHbI 1
14 5001821601401 CronopHoe KosbL,o\52 2
15 5001821601501 LWan6a51.5x36X0.5 1
16 5001821601601 BownouHan waliba 1
17 5001821601701 YnnotHeHne 48X33,8X7 1
18 5001821601802 Kopnyc umnmHapa 1
19 5001821601901 BuHT M6x40 8
20 5001821602001 MoawunnHUK ckonbKenuna 41,5x35,5x14 1
21 5001821602101 MoAWwnnHUK cKoNbXKeHna 65x55x17 1
22 5001821602201 MpyxuHa 74x3,5x30 1
23 5001821602301 PuKcMpyoLLan KpbllKa 1
24 5001821602401 CronopHoe KosbL,o\80X2 1
25 5001821602501 YnnotHutenbHoe Konbuo\80X2,65 2
26 5001821602601 Pe3snHoBoe Konblo AnA 3aWwmTbl oT Bubpaumnn\531
27 5001821602701 LLanba 54x36.5x2 2
28 5001821602801 Crteon 1
29 5001821602901 LWTndT 6N0KMPOBKM 2
30 5001821603001 CronopHoe KosbL,o\50X2 1
31 5001821603101 Konbuo npy*uHbl cuenneHus 1
32 5001821603201 Mpy*knHa cuenneHna\59X2,5x38 1
33 5001821603301 MydTa 1
34 5001821603401 YnnotHutenbHoe Konbuo\50X1,5 1
35 5001821603501 boek 1
36 5001821603601 YnnotHutenbHoe Konblo\29X20,8X5 2
37 5001821603701 Hanpasnatowasn 2
38 5001821603801 Pe3nHOBOE KOJbLO AN 3almThbl OT BUbpaumm 45|1
39 5001821603901 Ceano unnmHgpa 1
40 5001821604001 YpapHuK 1
41 5001821604101 YnnotHutensHoe Konbuo\30,2X3,5 2
42 5001821604201 YnnotHutensHoe Konbuo\30,2X3,5 1
43 5001821604301 Unnnuap 1
44 5001821604401 YnnotHuTenbHoe KonbLo\39,6X2 2
45 5001821604501 MopLweHb 1
46 5001821604601 YnnotHuTenbHoe KonbLo\30X2 2




47 5001821604701 MopuwHesol naneu\10X7X29.5 1
48 5001821604801 LWaTyH 1
49 5001821604901 MoAaWwnnHUK ckonbKeHna 17X10X10 1
50 5001821605001 Tara cuenneHma 1
51 5001821605101 bonbllaa KOHUYecKaa nepenaya 1
52 5001821605201 MoAWwKnnHUK CKoNbXKeHnA74x64x17,5 1
53 5001821605301 PurKcaTop PyYKN peKMmoB 1
54 5001821605401 Mpy*knHa pyukn\6.2X0.7X20.5 2
55 5001821605501 Camopes\St4.2X16 6
56 5001821605602 PyuKa pexknmos 1
57 5001821605702 KpbIwKa gna cmaskum 1
58 5001821605801 HaxXnmHana nnactmHa 610KMPOBKM BbiKAtoYaTensa|l
59 5001821605901 OnpaBKa AN BEPXHEN PYyYKM 1
60 5001821606001 Ha*KnmHol ancK cuenneHms 1
61 5001821606101 3axum 1
62 5001821606201 BonouHbIi 610K 1
63 5001821606302 Kopnyc peaykropa 1
64 5001821606401 Pe3bboBan coeanHUTENbHAsA CTOMKA 2
65 5001821606501 Mpoknagka 1
66 5001821606601 YnnotHutenbHoe Konblo\42X1,5 1
67 5001821606701 Manas KoHu4eckaa nepegaya 1
68 5001821606801 LLInoHKa 3x3x8 2
69 5001821606901 MoawnnHnk\6004.7z 1
70 5001821607001 LWanba 60X16.2X3.2 1
71 5001821607101 bonblias wecrepHA 1
72 5001821607201 BHyTpeHHAA 060iiMa WecTepHU 1
73 5001821607301 MpyxnHa\3.5x1.3x17.5 8
74 5001821607401 WTNHT 6X6 8
75 5001821607501 LWanba 25x12.5x1.5 1
76 35400700501 MoawnnHnk\6201.2Rs 2
77 5001821607701 YnnotHutenbHoe Konblo\32X1,5 1
78 5001821607801 YnnoTHUTeNbHOE KobLo\51X2 1
79 5001821607901 Kpusowwun 1
80 5001821608001 LLInoHKa 5x5x18 2
81 5001821608101 MoawnnHnk\6304.72z 1
82 5001821608201 CronopHoe KosnbLo\20 1
83 5001821608301 CpeaHsan wecTtepHa 1
84 5001821608401 LWecTtepHa 1
85 5001821608501 CronopHoe KosnbLo\16X1,6 1
86 35401300201 Wronbuatbiit noawmnnHnk\Nk1012 1
87 5001821608702 KpbllwKa Kopnyca peayKropa 1
88 5001821608801 YnnotHuTenbHoe KonbLo\34x2 1
89 5001821608901 YnnotHeHne\25x16X7 1
90 5001821609001 CTanbHan BTY/Ka 1
91 35400801901 MoawnnHnk\6202.2Rs 1
92 5001821609201 LLlan6a 28X15x0.5 1
93 5001821609301 Akopb 1




94 5001821609401 LWanba 20X12.2X0.5 1
95 5001821609501 Camopes\St4.8X60 2
96 5001821609601 LOednekrop 1
97 5001821609701 CraTop 1
98 5001821609802 Kopnyc gsuratens 1
99 5001821609901 OnddepeHumanbHaa MHAYKTUBHOCTb 1
100 (5001821610001 NHaykTop 1
101 5001821610102 HWXKHAA KpblWwKa 1
102 (5001821610201 Camopes\St4.8X20 14
103 5001821610301 KoHTponnep B cbope 1
104 5001821610402 Perynatop ckopoctu 1
105 (5001821610501 MnadoH 1
106 (5001821610601 LWal6a ana 3awmtbl ot BMGPaunmn\17X5x1,2 2
107 5001821610702 3aaHAA KpbILWKa 1
108 5001821610801 lHe340 610KMPOBKK BbIKIOYATENSA 1
109 (5001821610901 MpyxnHa\8X1X36 1
110 |5001821611001 BnoKMpoBKa BbIKAOUYaTENA 1
111 (5001821611101 BuHT\M6X60 1
112 5001821611201 BTy/Ka BUHTaA PYKOATKM 1
113 5001821611301 Pe3nHoBOe Konblo A1A 3aWmTbl OT BUubpaumnmn\242
114 5001821611401 CoenmHUTENbHAA Falika PYKOATKM 1
115 |5001821611502 BepxHsa aHTMBMOpPALMOHHAA 3aWwmTa 1
116 |5001821611601 MpyunHa ana 3awmTbl oT Bubpaummn\13,5x1,5x40(2
117 5001821611701 Pyuka B cbope 1
118 5001821611802 Knasuwa BbikntoyaTena 1
119 |5001821611901 Kopnyc BbikntovaTensa 1
120 5001821612001 Bbikntouatenb 1
122 (5001821612201 WHyp 1
123 5001821612301 3awmTa WHypa 1
124 5001821612401 ®uKcaTop WHypa 1
125 (5001821612501 XomyT 1
126 (5001821612601 BonT ¢ wecturpaHHolt ronoskoin\M8x70 1
127 5001821612701 [Jep:kaTenb BUHTA BCMOMOraTeNnbHOM pyKoaTkn |1
128 5001821612802 3aX1Mm BCNomMmoraTeIbHOM PYKOATKM 1
129 5001821612902 BcnomoraTesnbHaa pyKoaTKa 1




